Matematika 2.B
Doplň chýbajúce sčítance:
	28
	+
	 
	=
	31
	
	
	7
	+
	 
	=
	12

	54
	+
	 
	=
	62
	
	
	62
	+
	 
	=
	71

	77
	+
	 
	=
	83
	
	
	86
	+
	 
	=
	94

	35
	+
	 
	=
	44
	
	
	9
	+
	 
	=
	15

	48
	+
	 
	=
	56
	
	
	49
	+
	 
	=
	55



Napíš čísla :
 od 76 do 84  ___________________________________________
 od 43 do 35  ___________________________________________
Vypočítaj.

   54         36         61       24            98         67        79           56
+ 23      + 55      +  7     +75          - 68        -25       -34          -51

Napíš číslo, ktoré má 
6 jednotiek a 3 desiatky   ________
 4 desiatky a 7 jednotiek   ________
 7 desiatok a 0 jednotiek   ________
